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Part- A : ’
Choose the correct answer: 20x1=20
1) If n(A) = 2 and n(BUC) = 3, then n [(AxB)u(AxC) is

2) The range of the function

3)
4)

5)

6)

%)

8)

9)

10)

a) 23 b) 32 c) 6 siae @) 5

1_2sinx

(=)o) (LK) o[H] o tu[ae)

The number of roots of (x+3)%+ (x+5)% = 16 is -
a)4 b) 2 c) 3 d) 0

€os 1° +¢€os 2° + cos 3° + ........ + cos 179° = ,
a)o b) 1 c) -1 d) 89

A wheel is spinning at 2 radians/second. How many seconds will it take- to
make 10 complete rotations?

a) 10n seconds " b) 20n sec c) 5r sec d) 15r sec

Number of sides of a polygon having 44 diagonals is M :

a) 4 b) 4! ‘ gu -, ¥id22

The remainder when 38?5 is divided by 13 is

a) 12 b) 1 ~ € 11 d) 5

The sum upto n terms of the series Ji +B+ 18 +\32 4. |
(n+1) b) 2n(n+1 n(n+d) " d) 1

a) = ) 2n(n+1) "5 )

The slope of the line which makes an angle 45° with the line 3x-y = -5 are
& 1/ _ %

a) 1, -1 b) %5,-2 SR d) 2, =14

If one of the lines given by 6x2-xy+4cy? = 0 is 3x+4y = 0, then 'C' equal to |

a) -3 b) -1 c) 3 d) 1

11)

12)

13)

14)

A1
IfA= [__1 _X], then for what value of A, A2 = 0?
a)o b) £1 c) -1 d) 1

If BA=3i+2j+k and the position vector of B is i+3j—k, then the
positign vector A is :

a) 4i +2j+k b) 47 + 5] c) 4i d) -4i

If a=i+j+k, b=2i+xj+k, ¢=i-j+4k and é.(BxE):?O, then x is
equal to

a5 b) 7 c) 26 . d) 10

lim 8 -4°-2"+1%

X —0 x2 .

a) 2 log 2 b) 2 (log 2)2 c) log 2 d) 3 log 2
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}‘ Wt a) eX, xH(x+5) b).ef{'x(fkérS)';j W R) e"#% d) e"—%
A Tim xfia)-sire) . -
16) Tt is given that f'(a) exists, then xl,l—r:a a (a))( _Z (x) is ™ :
a)fa-af@  b)f@ c)-ftay  d)f(a)+af(a)

eGIogx LB eS log x

17) fF=r—e—dx s
) e4logx L eEJI'::gx

8) x+c b) X4 +¢ O Fatc @y Yare
18) e uxis | 9

D 2 (2 8% ) UL S
©) 26‘/’—‘(i~~/;)+c d) 2e” (&—1)+c‘ iy L

¥ A v 3 g # L
19) If A and B are two events such that AcB and P(B) = 0, then which of the
following is correct? SO - ‘

TR orlEw g oz

20) Ten coins are tossed. The probability of getting atleast 8 hea_;d‘s is

3

a) Y64 4 b)) 74, ) Ue 9 78

;4 Part-B :
Answer any seven questions. Question No, 30 js compulsory | 7x2= 14

21) Onthe set of natural numbers let R be the relation defined by aRb ifa+b < 6.
-~ Write down the relation by listing all the pairs. Check whethe;‘ it is reflexive.

22) Solve: 2|x+1|-6 < 7 and graph the solution set in a number line.

23) Find the value of sin (2212°)

24) How many strings can be formed from the letters of the word ARTICLE, so
that vowels occupy the even places? ) o

25) Find the equation of the straight line cutting an intercept of 5 from the

Negative direction of the y-axis and is inclined at an angle 150° tg the x-
axis. i . -

26) If P(r,

248

G- C

¢) is mid point of a line segment between the axes, then show that

4 -2
27) Express the matrix [3 ‘SJ as the sum of a symmetric matrix and a skew-

symmetric matrix,
28) Differentiate: y = sin (x2)
29) The odds that the event A occurs is 5 to 7, find P(A)
30) Differentiate: y = tan (cos x)
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Part-C
Answer any seven questions. Question No. 40 is compulsory. 7x3=21

31) IfA={1,2,3,4yandB = {3, 4, 5, 6} thenverify Ax(BnC) = (AxB)(AxC)
32) Find a quadratic polynomial f(x) such that f(0) ='1, f(-2) = 0 and f(l) =0
33) If A+B = 45°, show that (1+tan A) (1+tan B) = 2

34) Find 3gs5
35) Show that the points (1, 3) (2, 1) and (2, 4) are collinear by usmg concept
of slope. ‘
2bc - a? c? b? & b ol ,
2 2 2 ‘ :
36) Show th C 2ca-b a =lb ¢ a
) e a’ 2ab-c?| |[c a b

37) Let &,b,& be three vectors such that |a/=3, Ibl =4,|c|=5 and each one of

them being perpendicular to the sum of the other two, find |é +b+ E’

REE 1
38) Differentlatze y = tazx

39) Integrate: 4Cos(5-2x)+9.e™° + 6—2:—
- 4x

]
Hm Vi+x? -1

40) Evalua.t’e: X —0

5
Part-D _
Answer all the questions: i 7x5=35
41) a] Iff, g:R — R are defined by f(x) = |x|+x and g(x) = |x|~x, find g of and
fog. . ‘
0 (OR)

b] If A+B+C =, prove that cos?A + cos?B + cos?C = 1-2 cos A.cos B.cos C

42 Resolve into partial fractions ——XZ =

solv :
) a] Re P x> —5x+6
(OR)

b] In the binomial coefficients of '(1+x)”, the coefficients of the Sth, 6th
and 7th terms are in A.P. Find all values of n.

43) a] By the principle of mathematical induction, prove that forn > 1,

n(2n-1)(2n+1)
3

12432452+........ +(2n-1)2 =

(OR)

b] Prove that one of the straight lines given by ax?+2hxy+by? = 0 will
bisect the ange between the co-ordinate axes if (a+b)? = 4h2
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46) a

b]
47) a]
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‘total production, if the select
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4
(q+r) :55 e | ; |
:P’r{ovet.hg IAl;:;:l?z 7 {(rtzp)z v(pizqz) =2pqr(p+q+l‘)_3’ |
(OR)

2x +3

‘Integrate: 1% AN ] dx

A quadrilateral is a parallelogram if and only if its diagonals bisect each
other. | ' ‘

(OR)
sin’! x S ,
Ify = =52 » show that (1-x?)y,-3xy,~y = 0 ¢
| Biviriwmng, M,
lim x"-a" . SR ROM MpTRE Hss

Prove that =n.a"

x>ax_a O v%a‘«t‘_um,lgﬂmc?v?-
(OR) TEeNers) P37
Integrate: t -1[ X ] e o “/ | '
e AN e 16w £ O

Show that the vectors 5i+6j+7k, 7i-8j+9k, 37+20j+5k are
cqplanar.
_ '(OR) :

A firm manufactures PVC pipes in three plants viz X, Y and Z. The daily
productiqn volumes from the three firms X, Y and Z are respéctively
2000Aun|ts, 3000 units and 5000 units. It is known from the past
experience that 3% of the output from plant X, 4% from plant Y and 2%
from plant Z are defective, A pipe is selected at random from a day's

0 ed pipe is a defective, then what is th
probability that it was produced by plant Y? e

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

